N RTEW - 20 - 10(11)

150 2000 2000 2000
175 11 x @150 = 1650 175 B &
%z i I— g
i i o | ~ ~
o 8 - 8| ~
Sl I 2 8
3| 8 = =1
3| 2 2 = =
| | | g
I I I o
= S
R f+ 5% #
i R &P & A
150 2000 2000
140 150
20 100 20 60
M4 x 30 86 $60.5 x 3.2 $50.8 x 5.0
( SUS 304 ) (KM -TSRAF VY ('STK 400 ) ('STKM 400 )
BEBEM )
< al g T mJH\m/ T _M8 x 45 M6 x 20
e NPV == = =N ('SUS 304 ) ('SUS 304)

== o
(AG3A -F) ﬁ Mg x 30 75 x 50 ﬂ\ Mg x 45
/ ( SUS 304 ) ( AB063S - T5 ) ( SUS 304 )
M8 x 45 — / H / mf ;

('SUS 304 ) E‘M
i iR
mzojx 120 @IQ I | El@ , d Q
(R# - TSRXFYY
\! 'M8 x 25
REMEH ) ( SUS 304 )
0100 x 100 x 5.0 W8 x 25 I T T I T
( A6NO1S - T5 ) W / -
- | | | 3 C | —
Bl H e s +
30 x 18 \ 50 x 30 L M8 x 30 \
(" A6063S — T5 ) (' A6063S - 15 ) | ( SUS 304 ) !

- — —

-

110 1780 110




